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B.Sc. lV-Semester (CBcs) Exammatlon, May / June 2019
Subject statlstics

% flfne 13 Hours yonek - “_’ .f. ,E?rence (DSE) Max. Marks: 80
PART - A (5 4 = 20 Marks)
(Short Answer Type) -
N°te Answer any FIVE of the following questions.

1 Define Null and Alternative Hypoth‘esis;‘;‘ | %@,
2 Explain Most powerful Test. ? -lf“ . "i.,..;,»'ﬁ;;:
f;,:"":'.‘,_ e
3 Write the General test procedure of Large sample test.  ©
it 3 AN
4 Define order Statistic. i b
5 Explain Yate's correction for continuity. f e
6 Write the assumptions of t-test. AN
7 Define Run and Length of Run. A\ ..,4-"'
8

PART B(4x 5=60 Marks)

L ssay Answer Type)
Note ‘An wer ALL from the questions.

9 (a) State and prove Neymann Pearson Lemma. Explain its importance in testing the
hypothesis. %,
OR:.
(b) Obtam Most powerful critical region for testlng Ho:p=po Vs Hi: p=p,for
N(p, ) p0pulatnon

0 (a) (I) Explaln the large sample procedure for testing the equahty of two populatlon
,_standard deviations.

(h) In a random sample of 500, the mean is found to be- 20. !n another

independent sample of 400, the mean is 15. Could the sampk'?s have. been
- drawn from the same population with

ORY{
(o) () Explain Fisher's Z transformation. E p ain nts apphcations
(ii) Describe the large sample test procedure

 for equallty of two proportions.
11 (a) () Describe chi-square test for testj,

(it) Derive the chi-square test for 2x2 % 9 ‘d[_levss of fit.

ency table , &2
(b) (i) Explain the small sa OR e R R e
variances. mPle test Proce,, v for testing the equality of population . = -
(W) Explain t-test of significance AR 5 Sl
: Of sing,
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12 (a) (@ Explain Wald Wotfothz run (e8I teStlng the equality of two populatlon

 distribution functions. i t 2l
(ii) To determine the percent s age of a synthetic fibre, tests were made 2 ' !
two different temperatures: 10 tests were. at lower temperature and hlgher

temperature. The resulting d@ re given below:

T Shrinkage 112 o4 [ 5 1 6.7 -8 159010 g
L ow temperature | 3.7 [ 25 I .zs 414363 3.66]3.92]454]43]38}
o srle2] &1 44 |4.05] 35 |3.75]4.04[4.1]53]

| High term rature .
tto type whether the percent shrinkage of

“’Equal ‘OR not.

Use an appropriate non parametn
ferent temperature are

a synthetic fiber were made at tw

;“ﬂ:«&

(b) (i) Explain Parametric tests Vs N Non Parametnc testsiN 3
(i) Explain Mann-Whitney U-test proc dure. AN
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